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B.Com. Sth Sem. (Hons) w.e.{.
Session 2016-17 (Current
Scheme) Examination~
November, 2016

FINANCIAL MANAGEMENT
Paper : BCHN-§.01
Time : 3 hours Max. Marks : 80
Before answenng the questions, candidates

should ensure that they have been supplied
the correct and compléte quesuon paper. No

complaint in this regard will be entertained
after the examinavoy
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Note : All guestiona carry equal (16) marks.
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Qtestion No. | 1s compulsory.
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1. Write a short note on
= qp wilra o foa
(a) Financial Leverage (2)

faehra féava
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(b) Coupon Rate (2)
g1 R
(c) Pay-backMethod (2)
o487 A
(d) Under Capitalisation (2)
fe) ‘Capital Rationing (2}
goh arwftn
() Retained Earning (2)
afurfa @
() Net Operating Income Approach (2)

{h) Liberal Diwvidend Policy 2}
IER @i Hifa
UNIT -0
@ -1

,Ahm do you mean by Business Finance ?
Define the funéhdons of  Financial
Management. . (16)
araefas a & sm ogm e € 7 fadm
wawrt @ @l wy et i

wod siadedeueliey mmm//:dny



wod srodedeuelrey mmm//:dny

3.

What de»ou mean by under capitalisation ?
Discudg the effects of under-capitalisation.
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4. Calculate operating leverage, fihancial
leverage and combined leverage : (16)
SIS R B

C Rum
v ] @ I
Sales 60,000 Yfars | 3,000 Uruts | 1.00,000 Unite
| Selling Price Per Unit Laefe | 1000Re | 020 M
wu 5, ofy gard) L.
2. Variable Cost Per Unit B0 3.00 0.04
[T ) N goad)
3. Pined Cont T a0 28,000 3,000
(g wwver)
4 Interest on Debeniyve 8,000 16,000 -
mw@

B Define ‘Cost of Capital’. How will you

determine the cost of capital from different

sources ? http://www.haryanapapers.com {16)
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UNIT - IV
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6. What is mecant by "Trading-dn-equity” ? What
are its advantages and disadvantages.” (16)
"W W AR ¥ R ¢ ? 59 o
AT g?

7. From the following ‘informations calculate
the working capital requirement : (16)
Prefafen sreRal @ srar sdda $oh @
T | aorn D

—

rFB'!-‘.’,I.".:-;I sales ) r 13,00,000 |
(ran 4 *

PT". _ntmngt of Net Profit on Cost of Sales '5%
ﬂiu‘tcﬂfﬂﬂﬂﬂ?'ﬁzmﬂm

| A\rlnp credit allowed to customers Lo Weeks
(!must & wed e )

[ Ave rage credit allowed by supphers » Weeks
(gt ol g e s o)

| o 0 — -
Average stock R Weeks

P e —
T

Add 10% to compuked figures for
contingencies

qurn @) T uf § 10% peferaat F o
M3
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/l./ what is Diidend Policy ? Explain the
carious [actors determining the dividerid

_nolicy of coRipany.
.-mﬁiﬁ&?ame"mmﬂm
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(16}

calonlate

Y T
9. From e following mformation:,
the Inventory Turnover Ratio for each vy :ir.(16)
e qanat | ole ot & fae @ anad
HAI @) o BT
—— e e
Opening Stock WiN14 2014 |
:‘IIFIﬁ'NI-F m‘i“) 20,004 32,500
l‘urL hase during 1,27 500 1,70,000
the vear
(a # wu)
Sales durmg the |.50‘.{_me_ | 2,00,00
year
(avl & fedm)
hmng stock 32,500 a 25,000
M‘m ap )
e —~—— R P
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